Christmas Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

4 1715 918 |1
5 1 . 3

6 18 4 15
1 4 (3 918
8 |5 917 |4 1
6 |3 1 4 15
3.9 el 1 7
7|2 915 3 4

1 3 3
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

214 75163 [9]8 1
518|174 ]913]6]2
916 3118|2745
1171413 [5]6[2]9]38
8151219171416/ 1]3
6 3191218457
319,/ 8(4 2|1 ]5]7]6
7121618951 ]3]4
411 5637829
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